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Limit03 Answers for No.8765

(
I=(lim ¥+x-4=8)  2=(lim (FP+x—1)(2x+2)=4) 3 (1' X+ 2) Z\)l
Ad=(lim x"+x-4= 2=(lim (x"+x- X = JI=|1lm ———=_—

xo3 o1 voa 5xXP+4x+4 25 4
-5 -1 Ax=5-1 -1
.4:(lim x =—J .5=[lim —:—J 6=(lim +/x -2 = undefined)|| !
x2s 25—x 10 o6 0-x 2 x> 1 h
Ansl = ) ,
) ) x—2 ) |x —5x+6| @
7=( lim |x+1|:l) 8=\ lim 77 =undefined 9= lm ————— =1 M
x—(-2) x—2 x_2| x—3+ -3 +x U
33 . [5x4
A0=| lim —-77=0]| ./I/=| Ilim 5 = undefined Math@MUT T
L x>0+ X |X| x>4/5 10x"—3x—-4 Iy
L'
Ad=[1lim f(x)=-3, lim f(x)=3, lim f(x)=undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=3, lim g(x)=3, lim g(x)=3]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=6 lim f(x)—g(x)=0 lim f(x) g(x)=-9
x— 0+ x— 0+ x = 0-
3= . fx) :
lim =-1 lim f(x) g(x) = undefined Math@MUT
L x—0- g(x) x—0 |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-12)- x—(-1.2)+
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x—(-1.2)
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Limit03 Answers for No.8767

I o , ) S 3x-1 11
A=(lim x +2x +4x+4=11) 2=(lim (3x +4x+1)(5x-3)=16) S=lim — ="~
x—1 x—>1 x4 2X —4x 16
100 — x AV-3+x-5 1
.4:( lim ——20] .5=(lim —:—] .6=(lim +/x—2 =undefined)
Ans] — x—>100 10 —4/x vo2s  X—28 10 x> 1
) ) - X ) |x2—4x+3|
7=(lim |x+1]|=3) 8=| lim 77 = undefined 9=| lim ————— =2
x—>2 x—1 X—1| x> 3- -3 +x
55 , |4x-5|
A0=| lim ——77=0 Al=| lim 5 = undefined Math@MUT
L x>0+ X |x| x> (5/4) 8x +2x—-15
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x) = undefined ]
x—0- x— 0+ x—0
2=[lim g(x)=4, lim g(x)=4, lim g(x)=4]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=0 lim f(x)—g(x)=0 lim f(x)g(x)=-16
x—0- x— 0+ x = 0-
3= . fx) :
lim =1 lim g(x) - f(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
4= lim f(x)=-6.) S=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x—(-5.9)- x—>(-59)+ x—(-5.9)
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Limit03 Answers for No.8768

gl

I ) ) ) ) ) 2x -2x"=2x
A=(lim 2x"-3x+3=2) 2=(lim (x-2)(3x +x)=0) 3= lim =
x—1 x—2 x—2 3x—-4

x—100 2—4x+5 -1
.4=( lim —:-2OJ .5:( lim —:—J .6 =(lim 4/ 3 —x =undefined)
Ans] = x—>100 10 —4/x x> (-1) x+1 4 x—3
. i |x—1| . x—35 1
.7=(lim |x—2|:1) 8= lim = undefined 9= lim =7
x—3 x—1 l-x X — 5+ |X —6X+5| 4
33 . [3x—1]
A0=| lim ——77=0 Al=| lim — " =undefined Math@MUT
x>0+ X |x| x> (1/3) 6x +7x-3
I J=[1lim f(x)=-4, lim f(x)=-4, lim f(x)=-4] ]
x—0- x =0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-1 lim f(x)—-g(x)=-1 lim f(x)g(x)=12
x— 0+ x—0- x— 0-
3= . flx) 4 . gx)
lim ——=— lim = undefined Math@MUT
L x— 0+ g(X) 3 x—>0 f()C) |
Ad=(lim f(x)=5) 2=(lim f(x)=06) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim fix)=-1.) S5=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x—(-1.8)- x—(-1.8)+
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Limit03 Answers for No.8779

i ) 3 ) ) 5 ) x+2 3
Ad=(lim 3x+3x"+x+3=10) 2=(lim (5x +x"+3x)(2x-2)=612) .3=|lim ; 5 =
1 X3 o4 3X+4x —2x 124
x—-25 Ax=5-1 1
.4:( lim =10] .5:(lim —:—] .6=(lim 4/2 —x = undefined)
Ansl = x—25 1/;—5 xX—>6 x—06 2 Y52
) ) |—3+x| ) |x2—5x+4|
7=( lim |x+3]|=0) 8= lim = undefined 9=| lim ————— =23
x> (-3) x—o3 +x xo1- x—1
. 3 ) |5x—3|
A0=| lim 77-—=0 I1=| lim 5 = undefined Math@MUT
L x - 0+ |x| X x>3/5) 15x +11x—12
i J=[1lim f(x)=-3, lim f(x)=-3, lim f(x)=-3] ]
x—0- x =0+ x>0
2=[lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-7 lim f(x)—g(x)=-7 lim f(x)g(x)=-12
x— 0- x— 0+ x— 0+
3= flx) 3 ,
m = lim g(x)— f(x) = undefined Math@MUT
L x — 0- g(X) 4 x—>0 |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
4= lim flx)=-4.) S=( lim f(x)=-4) .6=( lim f(x)=-4.)
x— (-4.6)- x = (-4.6)+
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Limit03 Answers for No.9404

(0
. 32 . p . 3x7+2x-3 53)] )
A=(lim 2x —x"-3x-4=-6) 2=(lim (x+4)(5x -2)=15) S=|lm ——/———————=— M
x—1 x—1 x4 3x+4 16 a
25 —x 3—4x+2 1
.4=(lim =-10j .5=(lim —:—J 6=(lim 4x—1=4/2) t
Ansl = ¥ —>25 J__S x—>7 T-x 6 x5 3 h
, o |x—1] , x—4 N[ @
]:(hm|x—ﬂ:1) 8= lim = undefined 9= lim =7 M
x—3 x—1 l—x x— 4+ |X —5x+4| 3 U
5 5 . |5x—4]
A0=| lim —+77=o Al=| lim 5 = undefined Math@MUT T
L x>0+ X |x x> (4/5) S5x —29x+20 I
L'
Ad=[1lim f(x)=-2, lim f(x)=2, lim f(x)=undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=7 lim f(x)—-g(x)=-3 lim f(x) g(x)=-10
x— 0+ x— 0+ x = 0-
3= . fx) 2 :
lim = lim f(x) g(x) = undefined Math@MUT
L x—0- g(X) 5 x—>0 |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x—(-3.8)- x—(-3.8)+
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x—(-3.8)
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Limit03 Answers for No.9440

=
- , ) o o3x°+3 195) || Y
A=(lim 3x"-2=10) 2=(lim (5x"-3x-4)(4x—-4)=256) 3= lim =" M
x—2 x—3 x—>4 x+3 7 a
4 [1' x4 IJ 5 [1‘ 7ox 4J 6=(lim /1 defined) ||
A4=| lim = S=|lm 77— =- .6=(lim — X = undefine
Ans] = rs16 X—16 8 xo7 A/-3+x -2 x—>3 h
) ) |—3+x| ) x—35 1| @
7=(lim |[x-2|=1) 8=| lim = undefined 9= lim — ==l u
x—1 x—3 3-x x5+ |X —7X+10| 3 U
.4 4 . 3x—4
A0=| lim —+77=0| .I/=| Ilim 5 = undefined Math@MUT T
L x—>0- X |x| x—>(4/3) 12x"=25x+12 Iy
] ) _‘.r(_
d=[1lm f(x)=-2, lim f(x)=-2, lim f(x)=-2]
x—0- x— 0+ x>0
2=[lim g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)="-3 lim f(x)—-g(x)=-3 lim f(x)g(x)=2
x = 0- x— 0+ x —0-
3= ) .
lim =-2 lim f(x) g(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim fix)=-1.) S5=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x—(-1.5)- x—(-1.5)+ x—(-1.5)
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Limit03 Answers for No.9474

(
C , , , x+1 AR
d=(lim 5x"+x-3=3) 2=(lim (3x"—4x)(5x-1)=210) S=lim — =" M
x—1 x—3 x4 2Xx +4x-1 47 a
25 —x 14 —x
.4=[ lim =-10J .5=[ lim :—6] 6=(lim +/-3 +x = undefined)| | !
x— 25 «/;—5 x—>14 Afx—5-3 xo1 h
Ansl = ) ,
. . l—x . |x —2x—3| @
7=(lim |x+1|=3) 8= lim T = undefined 9= lim ——————=4 Y,
x—>2 x—1 x_1| x—> 3+ -3 +x
4 4 , |4 x5 v
A0=| lim —+77=0 A= lim 5 = undefined Math@MUT T
L x>0 X |x| x> (5/4) 20x"=37x+15 )
_ i L
Ad=[1lim f(x)=2, lim f(x)=2, lim f(x)=2]
x —0- x— 0+ x—>0
2=[lm g(x)=-2, lim g(x)=2, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=0 lim f(x)—g(x)=0 lim f(x) g(x)=-4
x = 0- x— 0+ x = 0-
3= . f(x) ,
lim =1 lim g(x)— f(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
A=(lim f(x)=0) 2=(lim f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x> (-4.5)- x> (-4.5)+ x> (-45)
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Limit03 Answers for No.9607

(
. 2 . 5 5 ) 4x*—4 12 11 9
A=(lim 3x"+4x=39) 2=(lim (2x"+3x-1)(4x -3x+3)=780) 3 =| lim = M
x—3 x—3 x—2 x+3 5
Jx-4 1 8 — x .
.4:( lim :—] .5:(lim —=-4] 6=(lim 4/1-x =undefined) || !
16 Xx—16 8 x>8 A/ x—4 -2 x52 h
Ansl = ) R
. . |x—l| ) |x +x—l2| @
7=( lim |x-1]|=2) 8= lim = undefined 9= lim —————=7||| i
x—(-1) i1 x—1 x> 3- —3+x U
3 3 _ 6x°+ 19 x — 20
A0=| lim 77-—"=0 A= lim = undefined Math@MUT T
L x — 0+ |x| X x—>(5/6) |6x—5| 41 2)
_ . L'
Ad=[lim f(x)=-4, lim f(x)=-4, lim f(x)=-4]
x—0- x— 0+ x>0
2=[lm g(x)=-2, lim g(x)=2, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+gx)=-2 lim f(x)-gx)=-2 lim f(x)g(x)=-8
x— 0+ x—0- x— 0+
3= RC)) - fx)
lim =2 lim = undefined Math@MUT
L x —0- g(x) x—>0 g(X) |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x— (-4.5)- x—(-4.5)+
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x> (-4.5)
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Ansl =

[Page 0009]

, -
X +x
J=(lim x¥*+3x+4=22) 2=(lim (x+3)(4x* —x=2)=4) .3:(lim :undeﬁned]
x—3 x—>1 x—2 2x—
S—4x 1 x—14
.4=(Iim [:_J .5=(lim —2-8] .6=(lim 4/ 1—x =undefined)
xrs2s 25-x 10 x> 14 4—a/x+2 xo3
) ) 3-x ) -3 +x Il
7=( lim |x-2|=5) 8= lim T = undefined 9= lim ==
x> (-3) X3 —3+x| x> 3+ |x —2x—3| 4
| 5 | [5x—4]
A0=| lim 7-—=0wo Al=| lim 5 = undefined Math@MUT
L x—0- |x| X x> (4/5) Sx°—29x+20 ]
i d=[1lim f(x)=-1, lim f(x)=-1, lim f(x)=-1] |
x—0- x =0+ x>0
2=[lim g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=0 lim f(x)—g(x)=0 lim f(x) g(x)=1
x— 0+ x — 0- x— 0-
3= . f(x) ,
lim =-1 lim f(x) g(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- x— 2+ x—2
A4=(C lim flx)=-6.) S=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x> (-5.4)- x> (-5.4)+ x> (-5.4)
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Limit03 Answers for No.10186

[Page

x—>2
. x—64
.4=| lim
x 64 8—4lXx

x-=5
:—16J .5:[lim —:—6j .6 =(lim 4/3 —x = undefined)
x5 3—4/x+4 xo3
Ansl = )
) . 2—-x i |x —6x+5|
7=(lim |x-1|=2) 8= lim T = undefined 9= lim ———— =4
x—3 x—2 X—2| x— 5+ x—=5
, 2 , 10x>—11x—-6
A0=| lim —7——=0| .II=| lim = undefined Math@MUT
L oo x| x oo 233 i
Ad=[1lim f(x)=-5 lim f(x)=5, lim f(x)=undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=-4, im g(x)=-4, lim g(x)=-4]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=1 lim f(x)-g(x)=-1 lim f(x) g(x)=20
x— 0+ x— 0- x— 0-
3= . fx) 5 :
lim = lim g(x)— f(x) = undefined Math@MUT
L x— 0+ g(X) 4 x—>0 |
Ad=(lim f(x)=2) 2=(1lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- x— 2+ x—2
4= lim flx)=-1.) S=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x—(-1.7)- x—(-1.7)+
0010]

d=(lim 2x*—x-1=5)

x—>1

2=(lim (5x-4x-2)(x=2)=1)

5x°+2x-2
x—2 B

.3=[lim
x—1

x—(-1.7)

5]
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[Page

I . 3 2 ) 3 2 ) 4 +4x7—x 141
d=(lim x -2x"+x=12) 2=(lim (-3+x)(4x —x"+3x)=0) 3=| lim =
x—3 x—3 x—3 x—1 2
2—4x 1 1 —4x+2 -1
.4:(lim [:—J .5:( lim —:—j .6=(lim +/ -3 +x = undefined)
x—>4 4-x 4 x—(-1) x+1 2 x—>1
Ansl = 5
. |3+« |16
.7 =(lim |x—2|:0) 8= lim = undefined Y= 1lm —=-8
x—2 x—3 -3 +x x—4- X =
I . |5x-2|
A0=| lim —7-—=0 Al=| lim 5 = undefined Math@MUT
L x— 0+ |x| X x> (2/5) 15x"+19x-10
I J=[1lim f(x)=4, lim f(x)=4, lim f(x)=4] ]
x = 0- x— 0+ x—>0
2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-1 lim f(x)—g(x)=-1 lim f(x)g(x)=20
x— 0- x— 0+ x — 0+
3= o ftx) 4 f(x)
lim ——=— = undefined Math@MUT
L x — 0- g(X) 5 x—>0 g(X) |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- x— 2+ x—2
4= lim flx)=-4.) S=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-4.9)- x> (-49)+ x> (-4.9)
= 0011]

S
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Limit03 Answers for No.10215

_.‘_(_
I o, , . 5 _2x+4 40)|] Y
A=(lim x"—x=2) 2=(lim (x-2)(5x —-x+4)=136) d=|lm ——————=— M
x—2 x—3 X2 x+1 3 u
-7 -1 AV-3+x-2 1
.4:(lim x =—J .5=(lim :—J 6=(lim 4/ 1-x = undefined)| | !
ro49 49-x 14 X7 x=7 4 o1 h
Ansl = ) ,
. . |x—2| . |x +x—12| @
7=( lim |x+2|:1) 8=| lim = undefined 9= lim ——(————— =7 M
x> (-3) xo2 X=2 x o3+ -3 +x U
4 4 , 20x" — 41 x +20
A0=|lim 7—7-—=c | .II=| lim = undefined Math@MUT T
L x— 0- |X| X x—>(4/5) |5X—4| 41
L
Ad=[1lim f(x)=-2, lim f(x)=2, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=4, lim g(x)=4, lim g(x)=4]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=6 lim f(x)-g(x)=-6 lim f(x) g(x)=-8
x— 0+ x—0- x = 0-
3= . f(x) :
lim == lim f(x)+ g(x) = undefined Math@MUT
L x— 0+ g(X) 2 x—>0 |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- x— 2+ x—2
4= lim f(x)=-3.) S=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x—(-3.5)- x—(-3.5)+
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x—(-3.5)
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Limit03 Answers for No.10889

2
I . 2 . 2 . —3+x 11
A=(lim 5x"—x=42) 2=(lim (x*-4x+3)(5x+2)=0) S=llm — =2 M
x—>3 x> 1 o1 4x —4x-1 u
6—4x 1 Ayx—-1-2 -1
.4:[ lim [:—) .5=(lim —:—J 6=(lim y/=3 +x = undefined) | | !
36 36—x 12 x5 5-x 4 o h
Anst = 2 x -1 1) @
7=(lim |x+1|=2) .8:(lim —:undeﬁnedJ .9=(lim > :—j by,
x—1 x—2 |X—2| x—1- |X —1| 2
4 4 55X 413x-6 v
A0=| lim 7—7-—=0| .//=| lim = undefined Math@MUT T
L x— 0+ |x| X x—>(2/5) |5x—2| i )
_ . L
Ad=[1lim f(x)=2, lim f(x)=2, lim f(x)=2]
x—0- x— 0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=5 lim f(x)-g(x)=5 lim f(x)g(x)=6
x— 0+ x—0- x— 0+
3= . ftx) 2 :
lim = lim f(x)+ g(x) = undefined Math@MUT
L x — 0- g(X) 3 x—>0 A
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
4= lim flx)=-4.) S5=( lim f{x)=-4) .6=( lim f(x)=-4.)
x> (-4.2)- x> (42)+ x> (-42)
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Limit03 Answers for No.10981

. 3,2 . 3,2 . X =3x -l |
d=(lim 2x +x" —4x-1=-2) 2=(lim (3x +x"+x)(2x-3)=30) 3 =] lim 5 =
x—1 x—2 1 4x+2 3
x—36 4—-4x+2 1
.4:(lim —:-IZJ .5=(lim —z—j 6= (lim 4/2 —x = undefined)
Ans] = x—>36 6—4/Xx v 14-x 8 X2
, .o x=2 - x=5 1) [
7=( lim |x+1|=1) 8=| lim T——7 = undefined 9=| lim —————=—
x> (2) x 2 X—2| X 5- |x —6x+5| 4
11 , 6x"—11x-10
A0=| lim 7 7—-—=o Al=| lim = undefined Math@MUT
L x = 0- |X| X x—>(5/2) |2X—5| i
Ad=[lim f(x)=-5 lim f(x)=5, lim f(x)=undefined]
x—0- x— 0+ x—0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=0 lim f(x)—g(x)=-10 lm f(x)g(x)=25
x— 0- x—0- x— 0+
3= . f(x) G
lim =1 lim = undefined Math@MUT
L x— 0+ g(X) x—>0 g(X) |
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
4= lim f(x)=-6.) S=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x—(-53)- x—(-53)+
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Limit03 Answers for No.10996

J=(lim 4x —2x"—2x+2=2)

2=(lim (x+1)(2x*+x)=6)

o

x+4

lim 5 =
xo2 Sx+3x+1

x—1 x—1
x-9 1 14 —x
.4:(lim :—] .5:(lim —:8j 6=(lim 4/3-x=1)
g1 x—81 18 xo14 4—alx+2 X2
Ansl = )
] ) X — ) |x —3x+2|
7=( lim |x-1]|=4) 8=| lim T—— = undefined 9=| lim ———— =
x—(-3) x—2 X—2| x—>2- x—=2
.2 2 . |4x—3|
A0=| lIim —+77=o A= lim 5 = undefined Math@MUT
L x>0+ X |x x> (3/4) 8x —26x+ 15
i J=[1lim f(x)=-5 lim f(x)=-5, lim f(x)=-5] ]
x—0- x =0+ x>0
2=[lim g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-6 lim f(x)—-g(x)=-6 lim f(x)g(x)=-5
x—0- x— 0+ x— 0+
3= - fx) :
lim =5 lim g(x)— f(x) = undefined Math@MUT
L x — 0- g(X) x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x> (-4.1)- x> (A1)t x> (4.1)

[Page 0015]

>

)

S

Sl NoE@s -8 ek

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXKXKXXXKXXXX XXX KKK XKLL KKL XKL LKL KKK LXK LXK KKK KKK K KKKKKKKKKME6/1-6300204-0001 6XX

Limit03 Answers for No.11386
o
[ , N , , , 5x—1 2\
A=(lim 3x +x"+x=30) 2=(lim (3x"—-4)(3+x)=2) S={lm —— =7 M
x—>2 x> 1 ol 2X +x +3x 3 u
-2 1 x-=5
.4=(lim [ =—] .5=(lim —=2] .6 =(lim 4/3 —x = undefined) !
x—>4 x—4 4 x—>5 x—4 -1 x—3 h
Ansl = 2 5
_ o ox=2 o @ +3x-10] @
7=( lim |x+3]|=1) 8=| lim T——7 = undefined 9= 1lim ———=7||| i
x> (-2) x 2 X—2| X2+ x=2 U
4 4 ' |5 x 4]
A0=| lim ——77=-0 Al=| lim 5 = undefined Math@MUT T
L x—>0- X |x| x> 4/5) 20x"—11x—-4 Iy
] _..!(_
Ad=[1lim f(x)=-5 lim f(x)=5, lim f(x)=undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=-2, Iim g(x)=-2, lim g(x)=-2]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-7 lim f(x)-g(x)=-3 lim f(x) g(x)=-10
x—0- x— 0- x— 0+
3= . fx) 5 :
lim = lim g(x)— f(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x = 3- x— 3+ x—>3
| 4=( lim f(x)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-2.1)

x—(-2.1)- x—(2.1)+
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Limit03 Answers for No.11394

2
I . 3 ) ) ’ ) 4 —4x+1 1 11 9
J=(lim 5x+2x-4=40) 2=(lm (x"-4x)(5x"-3x-3)=-99) 3=|lm — —=_ M
x—2 x—3 x—>1 5x°+3 8 a
x—6 -1 x+1
.4:( lim =—J .5:( lim —=-4j .6=(lim +/ 1 —x =undefined) !
Ans] — r>36 36-x 12 x> (1) 2—4x+5 53 h
) ) —X ) |x2—5x+6| @
7=( lim |x-1|=3) 8=| lim T— = undefined 9=|lim —————=-11|| »
x> (-2) 3 |3 +x| x> 3- 3 +x U
1 1 3x—4
.10:(lim ——_:Oj .]]:( lim |2 | :undeﬁned] Math@MUT T
x— 0+ |x| X x—>@/3) 15x —14x-8 1)
L
Ad=[1lim f(x)=-3, lim f(x)=3, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-5 lim g(x)=-5,lim g(x)=-5]
x— 0- x— 0+ x—0
Ans2 = lim fx)+g(x)=-2 lim f(x)-g(x)=8 lim f(x)g(x)=15
x— 0+ x— 0+ x—0-
3= . flx) 3 . gx)
lim ——=— lim = undefined Math@MUT
L x— 0- g(X) 5 x—>0 f()C) |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- x> 2+ x—2
|4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-4.8)- x> (-48)+ x> (-4.8)
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Ansl =
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for No.11397

d=(lim 2x*=3=5)

2=(lim (3x—1)(5x +x+3)=225)

x—2

18 — x

x—2
4[

lim
x—4

-2

‘

lim

o
x—> 18

Ji-2-4 "

!

o 4x-2 1
3= lim =—
c1 3x+1 2

.6=(lim +/x—1 =undefined)

x—1

, o x—1] [ —9x+20]
7=(lim |x-1]|=0) 8= lim = undefined 9=| lim =-1
x—>1 x—>1 X— X — 5- x-=5
33 , |2x-5]
A0=| lim —+7 7= | .Il=| Ilim 5 = undefined Math@MUT
x>0+ X |X| x>/2) 10x =31 x+ 15
i J=[1lim f(x)=-2, lim f(x)=-2, lim f(x)=-2] ]
x = 0- x— 0+ x—0
2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-7 lim f(x)—g(x)=3 lim f(x)g(x)=-10
x—0- x— 0- x— 0+
3= . fx) -2 :
lim = lim f(x)— g(x) = undefined Math@MUT
L x— 0+ g(X) 5 x—>0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
| 4=( lim f(x)=-3.) S5=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x> (-2.6)- x> (2.6)+ x> (-2.6)
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Limit03 Answers for No.11456

[Page

x—1

.4:(lim
x—4

= 6=(lim 4/ 1 —x =undefined)
x—4 -2 —x 2 x—3
Ansl =
. . X — i x—2 1
7=( lim |—3+x|:4) .8:(11m —:undeﬁnedJ .9:(hm z—z—j
x = (-1) x 2 X—2| x> 2+ |x +2x—8| 6
5 5 , 20x°-23x+6
A0=| lim ——77=-00| .Il=| Ilim = undefined Math@MUT
L x>0 X |x| x—>(2/5) |5x—2|
i J=[1lim f(x)=-4, lim f(x)=-4, lim f(x)=-4] ]
x—0- x =0+ x>0
2=[lim g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-5 lim f(x)-g(x)=-5 lim f(x)g(x)=-4
x—0- x— 0+ x— 0+
3= - fx) :
lim =4 lim g(x)— f(x) = undefined Math@MUT
L x—0- g(X) x—=>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x—(-53)- x—(-53)+
0019]

d=(lim 2x*—x+2=3)

dx-2 1

x—3

-

2=(lim (xX*=2)(x*+3x-3)=105)

-
x> (-2)

3=

lim

1-@_1)

x—(-5.3)

4x° —4x 8

(lim
x—>2

Sx+1 _HJ
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Limit03 Answers for No.11496

x—1

A

7=( lim |x+3|=2)

x—(-1)

L-yx -1

2

lim
x—1 x—1

Ansl =

d=(lim 5X°+3x°+x+4=13) 2=(lim (x+4)(2x’ +2x*+4x)=588)

3=

x—3

o
o

CoWx—4-1 1
lim —————— =7
x—5 x—=5

.
- X
lim —2| = undeﬁnedJ

x—2 | X~

N

] 5x°+x+3
lim -,
x>3  2x =2

|

6= (lim 42 —x =undefined)

x—2

x—5

51
16

!

-

lim
x—5-

: 4 . 4xX+5x-6
A0=| lim —+77=0 Al=| lim — -1 =undefined Math@MUT
L x—0- X |x| x—>(3/4) |4x—3|
i J=[1lim f(x)=-3, lim f(x)=-3, lim f(x)=-3] ]
x = 0- x— 0+ x—0
2=[lim g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+gx)=-2 lim f(x)—g(x)=-2 lim f(x)g(x)=3
x— 0+ x — 0- x— 0-
3= . fx) f(x)
lim ——=-3 = undefined Math@MUT
L x— 0+ g(X) x—>0 g(x |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
|4=( lim fix)=-1.) S5=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x—(-13)- x—(-1.3)+ x—(-1.3)
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Limit03 Answers for No.11509
(
[ , , , 4x-2 3Y]| 7
d=(lim 2x"+2x+1=13) 2=(lim (2x" -2x-4)(3x+2)=-20) .3=| lim 3 5 = M
x—>2 x—>1 x2 Sx —-4x -4 10 a
100 — x 28 —x
.4=( lim —=20j .5=(lim —:40] 6=(lim 4/3-x=4/2) t
x—>100 10 —4/x x—>28 //-3+x -5 xo1 h
Ansl = ) ,
, o x- . |x —7x+10| @
7=( lim |x+3]|=0) 8= lim T—— = undefined 9=| lim =3(|| i
x—(-3) x—>2 X—2| x— 2+ x=2
.5 5 , 3x-2| U
A0=| lim —+4+77=o Al=| lm —— " =undefined Math@MUT T
L x>0+ X |x| x> (2/3) 6X —Tx+2 oy
L
Ad=[1lim f(x)=-2, lim f(x)=2, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=7 lim f(x)-g(x)=-7 lim f(x)g(x)=-10
x— 0+ x —0- x — 0-
3= . flx) 2 g(x)
lim = = undefined Math@MUT
L x— 0+ g(X) 5 x—>0 f(X) |
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
|4=( lim fix)=-4) S=( lim f(x)=-4.) 0= lim f(x)=-4.)
x—(-3.9)- x—(-3.9)+ x—(-3.9)
= 0021] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXKXX KX KX KKK KX KX KX XXX XX KKK KX KX KX KKK KX KX KKK KX KX KKK KX KX KK KKK



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK KEXXKKXXKXKXXME/1-6300204-00022XX
Limit03 Answers for No.11539

(
[ o, o , 3x-2  2)]| 7
A=(lim 5x"+3=28) 2=(lim (x +3x-2)(x+3)=060) S=lm — =7 M
x> 1 x—o2 o2 3xX —4x —-x 3 a
10—4/x -1 l-Ax+2 1
.4:( lim —[:—J .5:{ lim —Z—J .6=(lim 4/ x—1 =undefined) f
Ans] — 100 Xx—100 20 vy —l=x 2 xo1 h
7=(lim |-3+x|=2) 8 [1' x-1] defi dj 9 [1‘ DX 'l]’ @
J=(lim |[-3+x|= 8=| lim = undefine 9=| lim =
x> 1 x>l =X X3 |x2+2x—15| 8 M
2 2 _ |6x— 5] v
A0=| Iim 77—-—"= A= lim 5 = undefined Math@MUT T
L x—0- |x| x x>(5/6) 12x"+8x—15 Iy
] _'.r(_
Ad=[lm f(x)=-5 lim f(x)=5, lim f(x)=undefined]
x—0- x— 0+ x—0
2=[lim g(x)=-5 lim g(x)=-5,lim g(x)=-5]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=0 lim f(x)-g(x)=0 lim f(x) g(x)=-25
x— 0+ x—0- x— 0+
3= . fx) :
lim =1 lim f(x) - g(x) = undefined Math@MUT
L x — 0- g(X) x—>0 a
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
A4=(C lim flx)=-3.) S5=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x> (-33)- x> (33)+ x> (-33)
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Limit03 Answers for No.11585

(
| . 3 2 . 2 L 2x 4 s
A=(lim 4x +4x =144) 2=(lm (x*-2x-3)(x+3)=-16) 3= lim — =-3 M
x—3 x> 1 x>l x =3 a
) 36 —x ) 11 —x ] P
4=| lim .Y 5= lim ———=-6 6=(lim +/3—x=4/2)
x - 36 «/7—6 x>l Afx—=2 -3 X1 h
Ansl =
| -1 | -1 |l @
7=( lim |x+1]|=2) 8=| lim = undefined 9= lim T5———=""1|| y
x5 (-3) xs1 l—x X - |x —5x+4| 3
3 |5x— 4] U
A0=| lim ——77=0 Al=| lim 5 = undefined Math@MUT T
L x>0+ X |x| x> 4/5) 20x"—11x—-4 )
L'
Ad=[1lim f(x)=-5 lim f(x)=5, lim f(x)=undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=-2, Iim g(x)=-2, lim g(x)=-2]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=3 lim f(x)—g(x)=7 lim f(x)g(x)=10
x— 0+ x— 0+ x — 0-
3= ftx) 5 :
im == lim g(x) - f(x) = undefined Math@MUT
L x—0- g(X) 2 x—=>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
| 4=( lim f(x)=-5) S5=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x—(-5.1)- x—(-5.1)+ x—(-5.1)
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Limit03 Answers for No.11593

(
| , . , . , x+4 1|
A=(lim 3x -4x" —4x+4=4) 2=(lim 3x -4x"+3x)(5x-4)=2) 3=|lm — =7 M

x—2 x—1 x2 Sx +4x+2 5 a
-5 -1 x—23
.4:(lim x :—] .5=(lim —:-10) 6=(lim y/2-x=1) !
x5 25-x 10 x>523 S—4/x+2 x> 1 h
Ansl = 5 ,
7=( lim |x-1|=2) 8 (1' DX ndefi d} 9 [1' Estal] 8} @
J=(C1lm |x-1|= 8=| im 7 =undefine 9= lim — =
x5 (1) i3 |3 +x] ae x—4 M
U
. 1 1 . 4x-3
A0=| lim 7-—=w Al=| lim 5 = undefined Math@MUT T
L x—0- |x| X x—>(3/4) 12x" =25x+12 Iy
L'
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x) = undefined ]
x—0- x— 0+ x>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x— 0- x— 0+ x—0
Ans2 = lim fx)+g(x)=9 lim f(x)—g(x)=-9 lim f(x)g(x)=20
x— 0+ x—0- x— 0+
3= o ftx) 4 . gx)
lim ——=— lim = undefined Math@MUT
L x — 0- g(X) 5 x—0 f()C) |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-3.4)- x> (34)+ x> (-34)
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Limit03 Answers for No.11633

i , , , ; , x+1 4]
A=(lim 4x" -2=14) 2=(lim (5x +3x+1)(x+4)=282) .3=| lim 5 =
x—2 x—2 xo3 2x —x—4 11
T—4x -1 Ax—1-5 1
.4:(lim [:—] .5:[Iim —:—] .6=(lim 4/ x—2 = undefined)
Ans] = roa9 X—49 14 v>26 X—26 10 ¥ 2
- x—-2
7=( lim |x+1]=1) .8:[lim —:undeﬁnedJ .9:(lim 5 =-1J
x> (2) x> 1 X—1| x> 2- |x —5x+6|
| 2 o |4x-3]
A0=| lim y7-—=0| .Jl=| lm ———— —=undefined Math@MUT
L x— 0+ |x| X x—>(3/4) 8x —2x-3
Ad=[lim f(x)=-1, lim f(x)=1, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-4, im g(x)=-4, lim g(x)=-4]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-3 lim f(x)-g(x)=5 lim f(x)g(x)=4
x— 0+ x— 0+ x —0-
3= . fx) 1 :
lim = lim g(x)— f(x) = undefined Math@MUT
L x—0- g(X) 4 x—>0 |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
| 4=( lim f(x)=-3.) S5=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x> (-3.6)- x> (3.6)+ x> (-3.6)
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Limit03 Answers for No.11636

2
.3 2 - 2 2 : xX+2 1| 7
d=(lim x -2x"-4x=-8) 2=(lim (4x"+3x+1)(x"+x-3)=414) 3=|lm ———— =1 M
x—o2 x—>3 xo>1 3x =3x"+3 4
. I —x . 4—4x+3 -1 . ¢
A4 =] lim =18 S=|lim ————=— b6=(lim y2-x=1)
x— 81 9—1/; x— 13 x—13 8 x—>1 h
Ansl = 5 R
) i |x—1| ) |x—5x+4| @
.7=( lim Lx+2|:1) 8=\ lim = undefined Y=lm ——— =3 M
x—(-3) i1 1—x x> 1+ x—1 U
4 4 _ 5x+13x-6
A0=| lim 7—7-—=0 Al=| lim = undefined Math@MUT T
i x%m|x| X x—(2/5) |5x—2| -1 )
(.
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x) = undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=3, lim g(x)=3, lim g(x)=3]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-1 lim f(x)-g(x)=1 lim f(x)g(x)=12
x— 0- x— 0+ x— 0+
3= . fx) 4 :
lim = lim g(x)— f(x) = undefined Math@MUT
L x — 0- g(X) 3 x—0 A
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim fix)=-5.) S5=( lim f(x)=-5.) 0= lim f(x)=-5.)
x— (-42)- x—(-4.2)+
[Page = 0026]

x> (-4.2)
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Limit03 Answers for No.11650

(
I . 2 . 3 2 . S5x—-1 19 )
d=(lim 3x"—x+1=11) 2=(lim (3x-3)(2x +3x +x)=504) J3=| lim =— M
x—2 x—3 x—4 2x-4 4 a
100 — x x—1
.4:( lim —:20) .5:[lim —:-4j 6=(lim +/3—x=4/2) t
x—100 10 —4/x xo>1 2—4x+3 x> 1 h
Ansl = x— -3 +x | @
7=(lim |x+1|=4) .8:(lim —:undeﬁnedJ .9:(lim 2—:4} by
X3 X2 |X—2| x> 3 |x —5x+6|
1 , |5x—1] U
A0=| lim —+77=0 Al=| lim 5 = undefined Math@MUT T
x—>0- X |x| x> (1/5) 20x"—=19x+3 )
— - _:I(_
d=[1lim f(x)=4, lim f(x)=4, lim f(x)=4]
x = 0- x— 0+ x—>0
2=[lm g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=3 lim f(x)-g(x)=3 lim f(x)g(x)=4
x = 0- x— 0+ x— 0+
3= - fx) :
lim =-4 lim g(x)— f(x) = undefined Math@MUT
L x — 0- g(X) x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
| 4=( lim f(x)=-3.) S5=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x> (-2.6)- x> (-2.6)+ x> (-2.6)
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Limit03 Answers for No.12273

_ ‘ 3 2 « 2 2 . 3x-3x-4 ]
d=(lim X’ +2x +x+4=22)  2=(lim (x’-3)(x¥’-3x-3)=-5) J3=|lm —5— =4
x—2 x—2 xol1 4x —2x-1

8 —/x -1J [ x—18 j
4=| lim . 5=| lim ————=3% 6=(lim /x—1=1)
( x>18 A/x—2—4

Lo mag@®@s~r gk

Ansl = X — 64 x—64 _16 Y
) ) |x—2| ) |x2—7x+10| ’
7=( lim |x+3|=2) 8= lim = undefined 9=| lim =3
x—(-1) x—2 -X x5+ x—=35
303 _ |6x—1]
A0=| lim —+77=0 Al=| lim 5 = undefined Math@MUT
L x—>0- X |x| x>(1/6) 6x —31x+5 i
i J=[1lim f(x)=-2, lim f(x)=-2, lim f(x)=-2] |
x = 0- x— 0+ x—0
2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-7 lim f(x)—g(x)=3 lim f(x)g(x)=-10
x— 0- x— 0- x— 0+
3= . fx) 2 , )
lim ——=— lim = undefined Math@MUT
L x— 0+ g(X) 5 x—>0 g(X) A
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
4= lim f(x)=-5.) S5=( lim f(x)=-5) .6=( lim f(x)=-5.)
x> (-4.1)- x> (A1)t x> (4.1)
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Limit03 Answers for No.12356

_:_(_
I : 3.2 . 2 2 ) 2x+1 -19) | ?)
d=(lim x’+x" —4x=4) 2=(lim (3x"—-4)(x"—x—-1)=115) S=lm —/———— ="+ M

x—2 x—>3 3 X —4x-3 6 a
10-4/x 1 x—-4-1 1

.4=[ lim _«/7=_J .5=[lim —:—J 6=(lim 1/x-2=1) !

100 100—x 20 x5 X—5 2 X3 h

Ansl = 5 )

, o |x-2] o |2 -8x+15] @
7=(lim |x+1]|=4) 8=| lim = undefined 9= lim —————=2|||
x—3 x—2 2-x x> 3+ -3 +x U
4 4 , 5x*—28x+15
J0=| lim 77-—=0o| .Il=| lim = undefined Math@MUT r
L x—0- |x| X x> (3/5) |5x—3| 11 )
_ . L'
d=[lim f(x)=-3, lim f(x)=-3, lim f(x)=-3]
x—0- x =0+ x>0
2=[lm g(x)=-2, lim g(x)=2, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-1 lim f(x)—-g(x)=-5 lim f(x)g(x)=6
x— 0+ x— 0+ x —0-
3= . f(x) 3 :
lim == lim g(x)— f(x) = undefined Math@MUT

L x—0- g(X) 2 x—>0 |

A=(lim f(x)=0) 2=(lim f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1

4= lim f(x)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)

x—(-1.6)- x—(-1.6)+ x—(-1.6)
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Limit03 Answers for No.12585

[Page

| i 5 . 3 5 i X*—x-2 4 |
A=(lim x"-2=2) 2=(lm (5x+4)(5x +4x"+3)=108) I=lm —/——— =~
x—)ZI x—1 X3 2x+3 9
-4 1 x—28
4 =] lim :—] .5:(lim —=10J 6 =(lim +/x —2 = undefined)
ns] = [xam x—16 8 x—>28 A/-3+x -5 X2
X — x—1 A1) T
7=( lim |x-2|=4) .8:[lim —zundeﬁnedJ .9:(lim 2—:—)
X (2) o X—1| NI |x +3x—4| 5
.5 5 20X -11x-4
A0=| lim —+77=0w| .Il=| lim = undefined Math@MUT
L x—0+ X |x| x—(4/5) |5X—4| i
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x) = undefined ]
x—0- x— 0+ x>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=1 lim f(x)—g(x)=-1 lim f(x) g(x)=-20
x—0- x— 0+ x—0-
3= fx) 4
im = lim g(x) - f(x) = undefined Math@MUT
L x— 0+ g(X) 5 x—>0 |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x—(-54)- x—(-54)+
0030]

x—(-5.4)
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Limit03 Answers for No.12667
(
I . 2 . 2 2 i 2x2—3 1
d=(lim 3x"-4x-4=-5) 2=(lim (2x"-3x+3)(4x +x—-1)=85) 3 =] lim =29 M
x—1 x—2 x4 “TITX a
9—-4x 1 4—4x+3 -1
4=(lim fz—J .5:(lim —:—J 6=(lim /3 —x = undefined)|| !
sl 81—x 18 rs13 x—13 8 X3 h
Ansl = ) ,
) ) x—1 ) |x—2x—3| @
.7:(lm1|x+2|:1) 8=| lim 7 =undefined 9= lim ——— = M
x—=(-3) x—1 x_1| x—3+ -3 +x U
4 4 , 6x°—17x+12
A0=| lim 77-—=0o A1=| lim = undefined Math@MUT T
L x%&|x| X x—>(3/2) |2X—3| 11 )
L
Ad=[1lim f(x)=-3, lim f(x)=3, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=2 lim f(x)—g(x)=-8 lim f(x)g(x)=15
x— 0- x— 0- x— 0+
3= . fx) 3 :
lim = lim f(x)+ g(x) = undefined Math@MUT
L x— 0+ g(X) 5 x—>0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
4= lim f(x)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(2.1)+ x—(-2.1)

x> (2.1)-
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Limit03 Answers for No.12678
(
I 3x"—x 11 7
. 32 . 2 .
d=(lim x’ -x"+4x-1=29) 2=(lim (3x"—x+1)(2x—-1)=125) 3 =| lim =-1 M
x—3 x—3 x—1 2x—4 a
x—100 x—14
.4=[ lim —:-2OJ .5:( lim —:-Sj .6=(lim +/3 —x = undefined) !
x—>100 10 —4/x xo>14 4—ax+2 x—3 h
Ansl = | B | 4 N a@
7=( lim |x-1|=2) .8=(lim :undeﬁnedj .9:(lim 2—=—j by,
¥ (-1) xs2 2-X iod |XP—2x-8] 6
_ 3 15+ 14x-8 v
A0=| lim ——77=0 Al=| lim = undefined Math@MUT T
L x>0+ X |x| x—>(2/5) |5x—2| 1)
_ . L
d=[1lm f(x)=5, lim f(x)=5,lim f(x)=5]
x—0- x— 0+ x>0
2=[lm g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=6 lim f(x)-g(x)=4 lim f(x)g(x)=-5
x— 0+ x— 0+ x = 0-
3= . fx) :
lim =-5 lim f(x)+ g(x) = undefined Math@MUT
L x = 0- g(x) x—>0 |
Ad=(lim f(x)=5) 2=(lim f(x)=06) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x> (-23)- x> (-23)+ x—(-23)
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Limit03 Answers for No.12690

0033]

(
I L _ .  s¥s2x-2 139)]| 7
A=(lim x-3x+1=19) 2=(lim (2x -3x"+2x)(4x-3)=40) .3=| lim = M
x—3 x—2 x—3 x+1 4 a
x—49 x—24
4=| 1im — 14 5=| lim ——F——==-10 6=(lim 4/3—x=4/2) t
Ans] — (x—>49 «/7—7 J [x—)24 5-4x+1 j x> 1 h
] ) | —l| i |x2—5x+4| | @
.7=(lim |x+1|:2) §=| lim = undefined 9= lim — =3 M
x—1 x—1 - X ¥ —> 4+ x—4 U
4 4 , |4x-5|
A0=| lim 77-—=0 Al=| lim 5 = undefined Math@MUT T
x = 0+ |X| X x(5/4) 20x =33 x+10 Iy
_ i L
Ad=[lim f(x)=-5 lim f(x)=-5, lim f(x)=-5]
x—0- x— 0+ x>0
2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-10 lim f(x)—g(x)=-10 lim f(x)g(x)=25
x = 0- x— 0+ x —0-
3= . f(x) :
lim =-1 lim g(x) - f(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
S=(C lim flx)=-6.) .6=( lim f(x)=-6.)

4=( lim f(x)=-6.)

x> (5.2)+

x—(-52)- x—>(-5.2)
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Limit03 Answers for No.12696

o
. 2 . 2 2 . 2x+1 5 J
A=(lim 3x"-3x-1=-1) 2=(lim (3x"+2x)(3x"+1)=20) 3= lim == M
x—1 x—>1 x—=2 2x+3 7
9 1 9—x ¢
X — _
.4:( lim = ] .5=[lim —=-4J 6=(lim /1 —x =undefined) || !
g x—81 18 x59 A/ x—5-2 x—3 h
Ansl = 2 )
) ) |x—1| ) |x —7x+10| @
7=( lim |-3+x|=6) 8= lim = undefined 9=| lim =3 ||| u
x—(-3) vl x—1 x—5- x—=35 U
5 5 _ 5x°-22x+8
A0=| lim 7 7-—=oo AI=| lim = undefined Math@MUT T
L x—0- |x| X x> (2/5) |5x—2| 11 )
_ i L
d=[1lm f(x)=2, Iim f(x)=2, lim f(x)=2]
x —0- x— 0+ x—>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-1 lim fx)—g(x)=-1 lim f(x)g(x)=-6
x = 0- x— 0+ x = 0-
3= fltx) 2 - fx)
m =" 1 = undefined Math@MUT
L x— 0+ g(X) 3 x—>0 g(X) |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim f(x)=-6.) .5=( lim f(x)=-6.) 0= lim f(x)=-6.)
x—(-52)- x—=(-52)+
X [Page = 0034]

x—>(-5.2)
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Limit03 Answers for No.12777
(
| . 3 2 . 2 . 5x+3x+1 93] )
A=(lim 5x+3x =8) 2=(lim (2x —-4x—-1)(5x—-2)=65) 3=|lm ————————=__ M
x—1 x—3 x4 4x+3 19 a
x-9 1 Ax=2-5 1
.4:[Hm. :—J .5:(hm —_____—:_J .6=(lim 4/ x—2 =undefined) f
Ansl = x— 81 x— 81 18 x =27 x =27 10 x—>2 h
. R o216 | @
.7:(1m1|x+1|:0) 8=| lim = undefined 9= 1lm —=-8 M
x—(-1) x—>1 X x—>4 X~ U
2 2 , l6x—1|
A0=| lim —+77=0w| .Il=| Ilim 5 = undefined Math@MUT T
x>0+ X |x| x(1/6) 6x =31 x+5 Iy
_ i L
d=[1lm f(x)=4, lim f(x)=4, lim f(x)=4]
x—0- x— 0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=7 lim f(x)—g(x)=7 lim f(x)g(x)=-12
x— 0+ x— 0- x —0-
3= . flx) 4 . gx)
im =T lim = undefined Math@MUT
L x— 0+ g(X) 3 x—>0 f(x |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- x> 2+ x—2
|4=( lim fix)=-3.) S=( lim f(x)=-3.) = lim f(x)=-3.)
x—(2.1)+ x—(-2.1)

x> (2.1)-
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Limit03 Answers for No.12785

2
o, _ . Cox+2 2 %
A=(lim 5x"+x+4=10) 2=(lim (-3+x)(4x +3)=-35) 3= lim == M
x—1 x—2 x—4 3x+3 5 4
i x — 81 i x—14 ]
4=| lim ————=18 S=| lim —F—=-8 .6=(lim +/-3 +x = undefined) || !
x—>8 Ax—9 xo14 d—a/x+2 x> 1 h
Ansl = 2 )
| | x | -x -2 @
.7=(lm1|—3+ﬂ=6) 8=| lim 77— =undefined 9= lim ————— =3 M
x> (-3) x—>3 —3+x| x> 2+ x=2
2 2 52 17x+6 u
A0=| lim —-77=0 A= lim = undefined Math@MUT T
L x>0+ X |x| x—>(2/5) |5x—2| i )
L'
Ad=[1lim f(x)=-3, lim f(x)=3, lim f(x)=undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=2, lim g(x)=2, lim g(x)=2]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=5 lim f(x)-g(x)=1 lim f(x)g(x)=-6
x— 0+ x— 0+ x = 0-
3= . fx) :
lim = lim f(x) g(x) = undefined Math@MUT
L x—0- g(x) 2 x—>0 |
A=(lim f(x)=0) 2=(lim f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
4= lim f(x)=-5.) S5=( lim f(x)=-5.) 0= lim f(x)=-5.)
x— (-4.7)- x— (-4.7)+
[Page = 0036]

x— (-4.7)
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Limit03 Answers for No.13085

2
: 2 . 2 o 5x-x" =2 )
d=(lim 4x " +2x-3=3) 2=(lim (5x"-4x)(x-2)=0) 3= lim =-2 M
x—>1 x—2 x—1 x-3
4-4fx 1 10 - x ;
.4:(lim =—J .5:(lim —=-6j 6=(lim /1 —x = undefined)|| !
16 16—x 8 x>10 4fx—1-3 x—>2 h
Ansl = 2 ’
) ) |x—2| i |x —6x+5| @
7=(lim |x+2|=4) 8= lim = undefined 9=|lim ——————=41|| iy
xX—2 x—2 -X x—1- x—1 U
3 3 _ 3x7—14x+8
A0=| lim —+77=w A= lim = undefined Math@MUT r
L x>0+ X |x| x—(2/3) |3x—2| :)
] i ..!(_
Ad=[1lim f(x)=-5 lim f(x)=5, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-2, Iim g(x)=-2, lim g(x)=-2]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-7 lim f(x)-g(x)=7 lim f(x)g(x)=-10
x—0- x— 0+ x— 0+
3= ftx) 5 :
im = lim g(x)— f(x) = undefined Math@MUT
L x—0- g(X) 2 x—=0 |
A=(lim f(x)=0) 2=(lim f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x> (-47)- x> (-47)+ x> (-47)
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